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Quwhwuwnnn hwuduwdnnnyh 2017 pwlwuh hniujwph 31-h phy 3 npnodwdp hwuwnwwngb §
pupwgwlwngh  pninp - dwutwbhgubph - Ynndhg  ubplujwgdwd  hwjnbph'  hpwdbph  wwhwugubiphu
hwdwwwunwuluwuniypjwu qguwhwndwt wpryniupubpp: <wdwdjwu npp'

Quithwpwdhu 1:
Yudwu wnwplw k hwunhuwund' UnpbGwihGh hhnpnunnwpunpwn 0,18% 1dy
<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjwé
dwutiwlhg
Uwutiwlyhgubphp Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink wliutinuip Huutlgh 1/ o itig UULE, npund/
ntepp hwdwp toh g » N
“XY)/
bdhpdw <<Upwnbpus>
1 ump X 765,82

Quthwpwdht 2:
Qudwu wnwplw k hwunhuwund' UGwight 50% 24;




<puwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwlygh
hwiwwywwwuluwunn | shwdwywwnwuluwung | Luhwdwywunwufluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Sdhpdw X
<<Upwnbipu>> ume
Cunpjwé
dwutiwlhg
Uwutwlhgubph Uwutiwygh /punnyws Uwutiwygh
qpwnbgpwsé wnwowplwé gh
nbink wijuitinudp Jwutiulygh /wnwiug UUZ, npud/
nupp hwdwp ok g » N
Ux”/
bShpdw <<Upunbipus>
1 Umo X 1775.9
Quithwpwdhu 3:
Qudwu wnwplw k hwunhuwund' Qniynqu 40% 5dy
<pwybph <pwybiph
wwhwugubtpht wwhwugubkphu
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwibnt | shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjws
dwutwyhg
Uwutiwyhgubph Uwutilgh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink witiquitinuip Hwubuligh | o g UUE, npuns/
nepp hwdwp ok g » N
uxn/
1 bhpdw <<Upwnbpus> X 790.6
umne
Quthwpwdhu 4:
Yudwu wnwplw k hwunhuwund' yniynqu 5% 50011
<puwybph <puwybph
wwhwugubphu wwhwugubkphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywwnmwupuwung | Luhwdwwywunwuluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt
nbwpnud uob “X”/ nbwpnud uob “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpjwé
Uwutwlyhgubph Uwutwlgh dwutiwlhg Uwutwlygh
qpuwnbgpwé wiwund /nunpywd wnwowplwé ghl
wbnbpp o dwutwlgh /wnwug UUL, npwd/
hwdwp Uk




uxn/

bhpdw <<Upwnbpus>

UM X 719.8
Quthwpwdhi 5:
Yudwi wnwplw § hwunhuwunu' Nhpuwidbipwgnl  4dq 14
<pwybipp <pwybiph
wwhwugubtphtu wwhwugubtphtu
Uwutwygh
hwiwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwuniypjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwuluwubnt | /shwdwwwunwufuwubin
nGwpnid ugk “X”/ nGwpnid uok “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjws
dwutiwlyhg
Uwutwlhgubph Uwutiwygh /punngwd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink whiutinuip Huutialgh =/ o itg UULE, puw/
nepp hwdwi tob g » N
uxn/
1 bhpdw <<Upwnbpus> X 1099.76
umne
Quthwpwdhu 6:
Yudwi wnwplw § hwunhuwund’ Yhpwgnp 10dg/ 14
<pwybiph <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpwéd
dwutiwlyhg
Uwutiwyhgubph Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé qhu
inbink wliuitinuip Huutwligh 1, g UULE, npuwi/
ntepp hwdwp ok g » N
uxn/
1 Shpdw <<Upuinbipus>> X 856.68
umne
Quithwpwdhu 7:
Yudwi wnwpluw E hwunhuwund® Yhyindbhwy 75dq/3dyp
<pwybph <pwybph
/¢ Utlﬂrhtl:lnl{?sh wwhwlgubpht wwhwhgubpht Uuhwiwwwwnwufuwnipjwl
il £ hwiwwywwwufuwunn | shwdwwywwmwuluwunn | hwdwnnn tfwpwgpnyeniu
hwjwnbp hwjwnbp




nGwpnid ugbi “X”/

/hwdwwwwnwufuwubnt

/shwdwwwunwufuwubint
nGwpnid ugb “X”/

1 Shpdw X
<<Upwntipu>> ume
Cunpjwé
dwutiwlyhg
ST gy | sy | Vet
clpml:l l?p wtijwtinudp Jwutulgh /umtutle LTU.C qwd/
ntepp hwdwp gk g » in
“X”/
1 Shpdw <<Upunbipus> X 1090.32
umne
Quithwpwdhu 8:
Yudwi wnwplw E hwunhuwund’ Nhitnpng 10Ug/1d;
<puwybph <pwytph
Uwul wwhwugubtpht wwhwugubtphu
wutwgh hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</< wujwunwdp hwiinb h b huwd u u
junkip wjwnbp wdwnnwn ujwpwgpnypnt
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjws
dwutiwlyhg
Uwuhw:hgbl;ph Uwutiwygh /punngwd nUwu'ult:lqgh i
qPL:Il:l l? o wijuitinudp —— /wu:lwut?wlru? qwd/
nepp hwdwp tgh g » in
“x"/
1 Shpdw <<Upwntipus> X 1191.8
umne
Quithwpwdhu 9:
Qudwu wnwplw k hwunhuwund' « Enubhih0 2.4dghl; S5up»
<puwybph <puwybph
U wubiw wwhwugubphu wwhwugubpht
ligh hwdwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwuuwunipjwu
</< wujwunwdp hwink h b hwd u u
junkip wjwnbp wdwnnwn uwpwgpnypnt
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud uob “X”/ nbwpnud uoby “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpjwé
dwutiwyhg
T gy | s | Vet
qpml:l l?n wiuitinudp Uwutulgh /umth LTI.K qlulV
nepp hwdwp gk 9 » N
uxn/
1 bhpdw <<Upwnbpus> X 790.6
umne




Quithwpwdhu 10:

Gudwt wnwpyuw E hwunhuwund® «$nipnubkivhy 10dq/2u)»

<puwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Sdhpdw X
<<Upwnbipu>> ume
Cunpjws
dwutwlhg
Uwutwlhgubph Uwutiwygh /punpyws Uwutiwygh
qpwnbgpwé wnwowplwé ghu
nbink wijuitinudp Jwutiulygh /wnwiug UUZ, npud/
nupp hwdwip ok g » N
Ux”/
1 fbhpdw <<Upmbgu>> X 1516.3
umne
Quthwpwdhu 11
Yudwu wnwplw k hwunhuwund' «YUnpnhwiho 0.25Uq  2dy»
<pwybipp <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpwéd
dwutiwlyhg
Uwutiwyhgubph Uwutiwygh /punngwd Uwutiwygh
qpwnbgpwé wnwowplwé qhu
bk wliuitinuip Hwutialigh =1/ o itig UULE, ppunt/
wnGntpp hwdwp ok g » N
“X?)/
1 Shpdw <<Upwntipus> X 1385.32
umne
Quthwpwdhu 12 :
Yudwi wnwplw § hwunhuwund’ YUnpywinp 254d; 20uq
<puwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwlygh
hwiwwywwmwuluwunn | shwdwywwnwuluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nbwpnud ok “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume




Cunpjwé
dwutwyhg
Vopunbonwa | Usststgh | pbndus | LR
ApIEIn wifwtnuip dwutiwlgh QuiRANS
wnbknbkpp hwdwp oty /wnwug UUL, npud/
“X”/
1 Shpdw <<Upwntipus> X 1416
ume
Quihwpwdhu 13:
Yudwyu wnwplw k hwunhuwunud' 3nn 5% 300]
<pwybipp <pwybiph
U wutiulgh wwhwugubtphtu wwhwugubtphtu
¢/c whwitind hwiwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwuniypjwu
n hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjwéd
dwutiwlyhg
| i | oty | e
runEgn wujwunwdip dwutwlygh 2un N
wbintpp hwidwin tgb /wnwug UUL, npwd/
“X?)/
1 Shpdw <<Upwntipus> X 1003
umne
Quthwpwdhu 14:
Yudwu wnwplw k hwunhuwunud' Uwqgbbghnuih unipdwwn 2500q/4; 50]
<pwybiph <pwybiph
Uwutiwygh wwhwugubtpht wwhwugubtphu
¢/c whllwhm?i hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
L hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Llpmbpu>> umne
Cunpjwé
dwutiwlhg
Uwuhlull:hghllph Uwutiwygh /punnywd nUwuhll:lqgh i
qpunzgnw wuyjwunwdip dwutiwlygh wnLguin 4wo g
wmbnbpp hwdwp ot /wnwug UUL, npwd/
uxn/
1 bdhpdw <<Upwnbpus> X 1069.08
umne




Qwihwpwdhu 15:
Yudwu wnwplw k hwunhuwund' Uhinpngihgbpht 0,5 dg

<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh hwdw
wwwwufuwunn | shwdwywwnwuluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nGwpnid uok “X”/ nGwpnid ugk “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjws
dwutiwlyhg
Uwutwlyhgubph Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink witiuitinuip dwubwlgh | /o g UULE, npuwd/
ntepp hwidwn ok g » N
“x”/
1 Bhntus sUnintipu-> X 458.725

Quithwpwdhu 16 :
Qudwu wnwplw E hwunhuwund' MwwwybphGh hhnpnpinphn 2% 24|

<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutwygh hwdw
wwwwufuwunn | shwdwywunwuluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 Shpdw X
<<Llpmbpu>> une
Cunpwéd
dwutiwlyhg
Uwutiwyhgubph Uwutiwygh /punngwd Uwutiwygh
qpwnbgpwé wnwowplwé qhu
nbnk wujwunwip dwutwlgh Jwnuibia LS &/
napp hwdwn ot wnwug » fipw
“X?)/
1 hpuus sUnintipu-> X 1430.16

Qwihwpwdhu 17 :
Qudwu wnwplw k hwunhuwund' Unpbhl-Gwuwnphnioh plgnwwn 0.1 1d)

<pwybph <pwybiph
wwhwugubphu wwhwugubkphu

Uwutwygh hwdw

wwwwufuwunn | shwdwwywwnwupiwunn | Luhwdwwywunwujuwunipywi
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud ugbip “X”/
1 Shpdw X
<<Upwunbipu>> ume
Uwutwlyhgubph Uwutwlygh Cunpjws Uwutiwygh
qpwnbgpwé wujwunuip dwutwyhg wnwowplwé ghu




wnbknbkpp /punpywd /wnwug UUL, npud/
dwutiwlygh
hwdwp ugh)
HXH/
Shpdw <<Upuntipus>
1 Ump X 792.96
Quthwpwdh 18:
Yudwi wnwplw § hwunhuwtund’ Mwpwgbnwing 5001q
<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwygh
hwiwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwupuwunipjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud ok “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjws
dwutwyhg
Uwutwlhgubph Uwutiwygh /punnyws Uwutwygh
qpwnbgpwé wnwowplwé ghu
inbink witiuitinuip Huutialgh =1 o itg UULE, ppuwd/
e hwidwn ugky S
“x"/
fbhndw <<Unmbgu>>
1 Ump X 155.76
Quthwpwdhu 19:
Yudwu wnwplw k hwunhuwund' «Qpwdhh ybpnpuhy 3% 1004] »
<pwybiph <pwybiph
wwhwugubphu wwhwugubpht
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywunwupuwung | Luhwdwwywunwujuwuniejwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud ugb “X”/
1 Shpdw X
<<Upwunbipu>> ume
Lunpjwé
dwutiwyhg
Uwutiwlyhgubpp Uwutiwygh /punnuws Uwutwlygh
qpwnbgpwé wnwowplwé qhu
inbink tidutinudp Hutwligh 1 i WU, npuwd/
nepp hwdwp ok 9 » N
uxn/
1 bhpdw <<Upwnbpus> X 1534
ume

Qwthwpwdhu 20:

Yudwu wnwplw k hwunhuwund' «Uwwqdwignb 50; »




<puwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwlygh
hwiwwywwwuluwunn | shwdwywwnwuluwung | Luhwdwywunwufluwuniejwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Sdhpdw X
<<Upwnbipu>> ume
Cunpjws
dwutwlhg
Uwutwlhgubph Uwutiwygh /punpyws Uwutiwygh
qpwnbgpwé wnwowplwé ghu
wnbink uitiquitinudp Huutuligh /wnwiig UUZ, npwd/
nupp hwdwip ok g » N
“x”/
1 bShpdw <<Upuinbipus> X 863.17
umne
Quwthwpwdhu 21:
Yudwu wnwplw k hwunhuwund' «Uwhpu pdayuywl 96% 19 »
<pwybipp <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutwygh
hwiwwywwmwufuwunn | shuwdwywwnmwupluwung | Luhwdwwywunwujuwuniejwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpwéd
dwutiwlyhg
Uwutwlhgubpp Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwé qhu
nbnk wujwunwip dwutwlgh Jwnwig UUE &/
ntepp hwdwp gk wnwug » puw
“X?)/
1 Ebhpljl.u <<Upmbpu>> X 6490
umne
Qwihwpwdh 22 :
Yudwu wnwplw k hwunhuwunud' YhpGbuynt pwjwuw@ 40q
<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywwnmwupuwung | Luhwdwwywunwuluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud uob “X”/
1 Shpdw X
<<Upwunbipu>> ume
Uwutwlyhgubph Uwutwlgh Cunpjws Uwutwlygh
qpwnbgpwé whwhnusp dwutiwlhg wnwowplwé ghu
wbnbkpp /puinpywd /wnwug UUL, npwd/




dwutwlgh
hwdwp ugk)
HXH/
1 dhpiw <<Upwnbpus> X 3528.2
umne
Qwihwpwdhu 23:
Yudwu wnwplw k hwunhuwund' Ywighnith pinphn. 541 10%
<pwybipp <pwybiph
wwhwugubtphtu wwhwugubtphtu
Uwutwygh
hwiwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwuniypjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubint
nGwpnid ugk “X”/ nGwpnid uok “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjws
dwutiwlyhg
Uwutwlhgubph Uwutiwygh /punngwd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink wijuitinudp e /wnwig UUZ, npuid/
nepp hwdwi tob g » p
“X?)/
1 Shpdw <<Upwntipus> X 395.3
umne
Qwihwpwdhu 24 :
Yudwi wnwplw § hwunhuwunud' LLnikyn) 40g
<puwybph <puwybph
wwhwugubphu wwhwugubpht
Uwutiwygh
hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwwywunwufluwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud ugb “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjws
dwutiwyhg
Uwutiwlyhgubpp Uwutiwygh /punnuws Uwutwlygh
qpwnbgpwé wnwowplwé ghu
bink tidutinudp Hustwligh 1 it WU, npud/
wnGntpp hwdwp ok g » P
uxn/
ﬂ)hndu.l <<Llnmbp_u>>
1 Ump X 3233.2
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Quihwpwdhu 25 :

Qudwu wnwplw k hwunhuwund' Ushwy 10% (30d;) 504

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwiwwywwmwufuwunn | shwdwywwnwupluwung | Luhwdwwywunwuluwunipjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
ntwpnud ugk “X”/ ntwpnud ugki “X”/
Shpdw
1 <<Upwnbpus> ume X
Cunpjws
dwutiwlyhg
Uwutwlyhgubph Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
wnbknkpp wijuitinudp Jwutuwgh /wnwug UUL, npud/
hwdwp Uk ’
Ux”/
bhpdw <<Upwnbpus>
1 ump X 354
Quithwpwdh 26:
Yudwu wnwplw k hwunhuwund' Lwnphnidh pinphn 0.9%-250.0
<pwybph <pwybph
wwhwugubtpht wwhwugubtphu
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwibnt | shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
Shpdw
1 <<Upwnbpus> ume X
Cunpjws
dwutwyhg
Uwutiwyhgubph Uwutilgh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé qgh
wbnbtpp wiuitinudp —— /wnwug UUL, npwd/
hwdwp ugb) ’
“x"/
1 bhpdw <<Upwnbpus> X 1090.32
umne
Quithwpwdhu 27:
Qudwu wnwplw k hwunhuwund' Unpkupinnghnh punty 5% 30q
<puwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwlygh
hwiwwywwmwuluwunn | shwdwywwnmwupuwung | Luhwdwwywunwuluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud ugb “X”/ nbwpnud uob “X”/
Shpdw
! <<Unmbpu>> umne X
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Cunpjwé
dwutwyhg
Uwutiwlyhgubpp Uwutiwygh /punnywd Uwutwlygh
qpwnbgpwé wnwowplwé gh
inbink whidutinudp Huutwligh 1 it UUE, npuwd/
nepp hwdwp ok g » N
“X”/
bhpdw <<Upwnbpus>
1 UM X 2135.8
Quthwpwdhu 28 :
Yudwi wnwplw § hwunhuwunud’ «Udopuwghiht +Hjjunnynbwppent 156,25uq/541»
<pwybipp <pwybiph
wwhwugubtphtu wwhwugubtphtu
Uwutwlygh
hwiwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwuniypjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nbwpnud gk “X”/ nbwpnud gk “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjwéd
dwutiwlyhg
Uwutwlhgubph Uwutiwygh /punngwd Uwutiwygh
qpwnbgpwé wnwowplwéd gh
nbnk wujwunwdip dwutwygh Jwnuwiba UULS /
1sro hwdwp ugb) winuitig >
“X?)/
bhpdw <<Upwnbpus>
1 Ump X 48037.8

Quthwpwdhu 29:

Yudwu wnwplw k hwunhuwund' «Udopuwmghihti +jjuynynbuppnt 312,5uUq/51) »

<puwybph <puwybph
Uwutwlgh wwhwugubphu wwhwugubpht
9
hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwwywunwufluwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud ugby “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjwé
dwutiw
Uwutiwlhgubph wubuligh P ﬂ‘g’ Uwutiwlgh
qpuintgnwé whwunuip dwutwlgh wnwowplwé ghl
wbnbtpp hwdwp ot /wnwug UUL, npwd/
uxn/
1 hntus seHnintipu-> X 58268.4

12




»

Qwitwpwdhu 30:

Yudwt wnwpyw § hwunhuwiunud’ «Udnpuwghhtt 500dq

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Sdhpdw X
<<Upwnbipu>> ume
Cunpjws
dwutwlhg
Uwutwlhgubph Uwutiwygh /punpuws Uwutwlygh
qpwnbgpwé wnwowplwé ghu
nbink wiyjuwiunip e /wnwig UUZ, npuwd/
ntupp hwdwp ok g » N
“x"/
fbhpdw <<Upmbgu>>
1 Ump X 8732
Quthwpwdhu 31:
Yudwu wnwplw k hwunhuwund' «Udnpuwghiht 250dq/54) 100up»
<pwybipp <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpwéd
dwutiwlyhg
Uwutiwyhgubph Uwutiwygh /punngwd Uwutiwygh
qpwnbgpwé wnwowplwé qhu
bink wiuitinudp Jwutugh /wnwig UUZ, npwd/
wnGntpp hwdwp gk g » N
“XY)/
bdhpdw <<Upwnbpus>
1 ump X 20768
Qwthwpwdhu 32:
Yudwu wnwplw k hwunhuwund' «Ugknhjuwhghjupent 100dq
<pwybph <pwybiph
wwhwugubkphtu wwhwugubkphtu
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywwnwupluwung | Luhwdwwywunwufluwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun ufuwpugpnypniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nGwpnid ugk “X”/ nbwpnid ugk “X”/
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Sphpdw

<<Upwnbpus> ume X
Lunpjwé
dwutwlhg
Uwutwlyhgubph Uwutiwlgh /punnywd Uwutiwygh
qpwnbignuws whywunudp dwutwlgh wnwowplws ght
wbnbtpp hwdwn ohiy /wnwug UUL, npwd/
“x”/
1 Shpdw <U<qgtnmbgu>> X 48675
Quthwpwdhu 33:
Yudwu wnwplw k hwunhuwund' « Ukp.Uuypninundng 200dlg  »
<pwybph <pwybph
Uwub wwhwugubphu wwhwugubphu
wutwlgh hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjws
dwutwyhg
Uwutwlyhgutiph Uwutiwygh /punnyws Uwutwlygh
qpuintgnuwé wujwunwip dwutwlgh wnwowplwé ghl
wbnbtpp hwdwp ohi /wnwug UUL, npwd/
uxn/
1 Ebhplfu.l E<ql1.lepmbgu>> X 10030
Quthwpwdhu 34 :
Yudwt wnwplw E hwunhuwund’ «Udjnghuht 10dg »
<pwybph <pwybph
Uwutiulgh wwhwugubphu wwhwugubkphu
wiutiuiig hwiwwywwmwuluwunn | shwdwywwnmwupuwung | Luhwdwwywunwuluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud uob “X”/
1 Shpdw X
<<Upwnbpus> ume
Uwutwlhgubpp Uwutiwygh Lunpjwéd Uwutwlygh
qpwnbgpwé dwutiwlhg wnwowplwé ghu
wujwunuip
wbkinbkpp /puinpywd /wnwug UUL, npwd/
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dwutwlgh
hwdwp ugk)
HXH/
bShpdw <<Upuinbipus>>
1 Ump X 30680
Quthwpwdhu 35:
Qudwu wnwplw k hwunhuwund' «Yhgnljuht 0,25Uq »
<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwygh
hwiwywwwuppwunn | shwiwywunwufuwung | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjws
dwutwyhg
Uwutwlhgubph Uwutiwlgh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
bink wijuitinudp e /wnwig UUZ, npuwd/
wnGntpp hwdwp ok 9 » N
‘(x"/
bhpdw <<Upwnbpus>
1 Ump X 5398.5
Quwthwpwdhu 36:
Qudwu wnwplw k hwunhuwunud' «Yhyndpktuly 50dq »
<pwybiph <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywwnwupuwung | Luhwdwywunwuluwuniejwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 Shpdw X
<<Upwnbpus> ume
Lunpjwé
dwutiwlhg
Uwutiwlyhgubpp Uwutiwygh /punnuws Uwutwlygh
qpwnbgpwé wnwowplwé qhu
bk tidutinudp Huutwligh 1, g UULE, npuwi/
wGntpp hwdwp ok g » N
“XY)/
bdhpdw <<Upwnbpus>
1 ump X 8643.5

Quithwpwdhu 37 :

Qudwu wnwplw k hwunhuwund' «Ugknhjghunkht 200ug »
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<puwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwlygh
hwiwwywwwuluwunn | shwdwywwnwuluwung | Luhwdwywunwufluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Sdhpdw X
<<Upwnbipu>> ume
Cunpjws
dwutwlhg
Uwutwlhgubph Uwutiwygh /punpyws Uwutiwygh
qpwnbgpwé wnwowplwé ghu
wnbink uitiquitinudp Huutuligh /wnwiig UUZ, npwd/
nupp hwdwip ok g » N
“x”/
bShpdw <<Upunbipus>
1 Ump X 1947
Quthwpwdhu 38 :
Yudwu wnwplw k hwunhuwund' «Zhnpnpinpunhwqhy 100dq »
<pwybipp <pwybiph
wwhwugubphu wwhwugubphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpwéd
dwutwyhg
Uwutwlhgubpp Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwé qhu
nbink wyjuwuniip Jwutiulygh /wnwiug UUZ, npud/
nepp hwdwp ok g » N
“x"/
Ebhplfu.l <<Upmbgu>>
1 Ump X 11139.2
Quthwpwdhu 39:
Sudwtu wnwpyuw k hwunhuwund’ «Qwpytghing 12.51q »
<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywwnwuluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt
nbwpnud ok “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwunbipu>> ume
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Cunpjwé
dwutwyhg
Uwutiwlyhgubpp Uwutiwygh /punnywd Uwutwlygh
qpwnbgpwé udwtned Jwul wnwowplwé gh
wnbknbkpp wiuitinudp wuliwlgh /wnwug UUL, npud/
hwdwp ugb) ’
“X”/
bhpdw <<Upwnbpus>
1 ump X 33984
Quthwpwdhu 40 :
Yudwi wnwpluw E hwunhuwund’ «Qwnpyknhing 6,251g»
<pwybipp <pwybiph
wwhwugubtphtu wwhwugubtphtu
Uwutwygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nbwpnud gk “X”/ nbwpnud gk “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjwéd
dwutiwlyhg
Uwutwlyhgutiph Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé udwtned Jwub wnwowplwéd gh
wnbnbpp tiduitinudp wutwligh =/ g UUE, npuwd/
hwdwp ugb) ’
“X?)/
fbhpdw <<Upmbgu>>
1 Ump X 2581.25
Quthwpwdhu 41:
Yudwu wnwplw k hwunhuwund' «bqnunpphny  ghthnnpuwn 20dg»
<puwybph <puwybph
wwhwugubphu wwhwugubpht
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwwywunwufluwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nGwpnid ugkip “X”/ nbwpnid uokip “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpjwé
dwutiwyhg
Uwutwlyhgubpp Uwutiwygh /punnuws Uwutwlygh
qpwnbgpwé udwiined Jwub wnwowplwé ghu
wnbknbkpp wiuitinudp wuliwlgh /wnwug UUL, npud/
hwdwp ugk) ’
uxn/
ﬂ)hndu.l <<Llnmbp_u>>
1 Ump X 4037.96

Qwthwpwdhu 42:

Yudwu wnwpluw § hwunhuwiund’ «Unydwdbnwljungni+nphdtinnyphd 240uq/5u1»
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<puwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwlygh
hwiwwywwwuluwunn | shwdwywwnwuluwung | Luhwdwywunwufluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjws
dwutwlhg
Uwutwlhgubph Uwutiwygh /punpyws Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbnk wtiuitinuip Huutiugh /wnuitg UUS, npwd/
nupp hwdwip ok g » N
“x”/
bShpdw <<Upunbipus>
1 Ump X 49064.4
Quthwpwdhu 43:
Yudwu wnwplw k hwunhuwund' «Enidphiht 0,15qp»
<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjws
dwutwyhg
Uwutiwyhgubph Uwutilgh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink wliuitinuip Huutialgh =1 /o g UULE, ppwd/
nepp hwdwp ok g » N
uxn/
bhpdw <<Upwnbpus>
1 Ump X 354
Quwthwpwdhu 44 :
Sudw wnwpyuw k hwunhuwund’ «Qwupnnunpy 25ug»
<puwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywwnwuluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud ok “X”/ nbwpnud gk “X”/
1 Shpdw X
<<Upwnbpus> ume
Uwutwlhgubpp Uwutiwygh Lunpjwéd Uwutwlygh
qpwnbgpwé wujwunwip dwutiwlyhg wnwowplwéd ghu
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wbnbpp /puinpywd /wnwug UUL, npwd/
dwutwlgh
hwdwp ugk)
HXH/
bShpdw <<Upuinbipus>>
1 Ump X 4897
Quthwpwdhu 45 :
Yudwi wnwplw E hwunhuwiunud' «Skndpiht 350ug»
<pwybph <pwytph
wwhwugubtphtu wwhwugubtphtu
Uwutwygh
hwiwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwuniypjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nGwpnid uok “X”/ nGwpnid ugk “X”/
1 Sdhpdw X
<<Upwnbpus> ume
Cunpjws
dwutiwlyhg
Uwutwlhgubph Uwutiwygh /punngwd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink whiutinuip Huutialgh =/ o itg UULE, puw/
o hwidwin by guEs
“X?)/
bhpdw <<Upwnbpus>
1 ump X 926.89
Quthwpwdhu 46:
Yudwu wnwplw § hwunhuwund’ «Mwpugknwdng opwpuly 125dg»
<pwybiph <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywwnwupuwung | Luhwdwywunwuluwuniejwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpwéd
dwutiwlhg
Uwutiwlyhgubpp Uwutiwygh /punnuws Uwutwlygh
qpwnbgpwé wnwowplwé qhu
bk tidutinudp Huutwligh 1, g UULE, npuwi/
wGntpp hwdwp ok g » N
uxn/
bdhpdw <<Upwnbpus>
1 ump X 11328

Qwthwpwdhu 47 :

Qudwu wnwplw k hwunhuwund' «MEphtnnunphy 10dq »
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<puwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwlygh
hwiwwywwwuluwunn | shwdwywwnwuluwung | Luhwdwywunwufluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjws
dwutwlhg
Uwutwlhgubph Uwutiwygh /punpyws Uwutiwygh
qpwnbgpwé wnwowplwé ghu
nbink wijuitinudp Jwutiulygh /wnwiug UUZ, npud/
nupp hwdwip ok g » N
“x”/
bShpdw <<Upunbipus>
1 Ump X 159221.33
Quthwpwdhu 48:
Yudwi wnwplw § hwunhuwunud’ «MEphugnwnhy 5ug »
<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjws
dwutwyhg
Uwutiwyhgubph Uwutilgh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink wlidutinuip Huutialgh =1 /o g UULE, ppwd/
nepp hwdwp ok g » N
uxn/
bhpdw <<Upwnbpus>
1 Ump X 76511.2
Quwthwpwdhu 49 :
Yudwi wnwpluw § hwunhuwunud’ «Mpligthgnint Sug »
<puwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwygh
hwiwwywwwufuwunn | shwdwywwnwupluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud ok “X”/ nbwpnud gk “X”/
1 Shpdw X
<<Upwnbpus> ume
Uwutwlhgubpp Uwutiwygh Lunpywé Uwutwlygh
qpwnbgpwé wujwunwip dwutiwlyhg wnwowplwéd ghu
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wbnbpp /puinpywd /wnwug UUL, npwd/
dwutwlgh
hwdwp ugk)
HXH/
bShpdw <<Upuinbipus>>
1 Ump X 9861.429
Quthwpwdhu 50:
Yudwu wnwplw k hwunhuwund' «2hgpnpinpunhwqhy 25dq »
<pwybph <pwybph
wwhwugubkphu wwhwugubtpht
Uwutwygh
hwiwywwwuliwunn | shwiwwywunwufuwuny | Luhwdwwywnwufluwunyejwu
</< wujwunwdp
hwjwnbp hwjwinbp hwdiwnnun ujwpwqgpnypniu
/hwdwwwwwufuwubnt | /shwdwwywnwufuwubin
nGwpnd ugk| “X”/ nGwpnid ugk| “X”/
1 Sdhpdw X
<<Upwnbpus> ume
Cunpjws
dwutiwlyhg
Uwutwlhgubph Uwutiwygh /punngwd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink whiutinuip Huutialgh =/ o itg UULE, puw/
nepp hwdwi tob g » N
uxn/
bhpdw <<Upwnbpus>
1 ump X 3858.6
Quthwpwdhu 51:
Yudwt wnwplw E hwunhuwund' «Jupdpuphts 2.5uqg »
<pwybiph <pwybiph
wwhwugubphu wwhwugubpht
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwwywunwufluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud ugby “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpwéd
dwutiwyhg
Uwutiwlyhgubpp Uwutiwygh /punnuws Uwutwlygh
qpwnbgpwé wnwowplwé qhu
bink tidutinudp Hutwligh 1 i WU, npuwd/
wnGntpp hwdwp ok g » N
uxn/
ﬂ)hndu.l <<Llnmbp_u>>
1 Ump X 6338.96
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Qwihwpwdhu 53:

Qudwu wnwplw k hwunhuwund' Uknnnppuunn 5dq

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwiwwywwmwufuwunn | shwdwywwnwupluwung | Luhwdwwywunwuluwunipjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwuluwubnt | /shwdwwwunwufuwubint
nGwpnid uok “X”/ nGwpnid ugk “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjws
dwutiwlyhg
Uwutwlyhgubph Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink lidutinuip Huutwligh 1 i WU, npu/
ntepp hwdwp tob g » N
uxn/
bhpdw <<Upwnbpus>
1 ump X 12810.08
Quthwpwdhu 54 :
Yudwi wnwplw E hwunhuwund’ «bnjuppnt Suq »
<pwybipp <pwybiph
wwhwugubphu wwhwugubphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwibnt
nbwpnid uob “X”/ nbwpnud uoby “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpwéd
dwutwyhg
Uwutwlyhgutiph Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwé qhu
inbnk witiduitinuip Huutiulgh /wnuitg UUS, npwd/
nepp hwdwp ok g » N
uxn/
Ebhplfu.l <<Upmbgu>>
1 Ump X 1880.625
Quithwpwdhu 53:
Yudwu wnwplw k hwunhuwund' « fhunypning 5uq »
<puwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwlygh
hwiwwywwmwuluwunn | shwdwywwnwupuwung | Luhwdwywunwuluwuniejwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud ok “X”/ nbwpnud ok “X”/
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Sphpdw

<<Upwnbpus> ume X
Lunpjwé
dwutwlhg
Uwutwlyhgubph Uwutiwlgh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
bk lidutinuip Hustwligh 1 g WU, npuwd/
nenEpn hwdwp ugk) 9 aLb
“X”/
bhpdw <<Upwnbpus>
1 Ump X 8260
Quthwpwdhu 56:
Yudwi wnwpluw E hwunhuwunud' «8kbunphwipunh 1g»
<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud ok “X”/ nbwpnud uob “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpjws
dwutwyhg
Uwutwlyhgubiph Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwé ghu
inbnk witiuitinuip Huutiulgh /wnuitg UUS, npwd/
e hwidwn ugky S
“x"/
Ebhplfu.l <<Upmbgu>>
1 Ump X 15340
Qwthwpwdhu 576
Yudwi wnwplw § hwunhuwunud’ Mnyghnnt jnghy 10% - 604;
<pwybiph <pwybiph
wwhwugubtpht wwhwugubtpht
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud ok “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume
Lunpjwé
dwutiwlhg
Uwutiwlyhgubphp Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé qhu
inbink wliuitinuip Huutilgh =1/ o g UULE, ppun/
ntepp hwdwp ok g » N
uxn/
bdhpdw <<Upwnbpus>
1 ump X 3918.78
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Qwthwpwdhu 58:

Yudwt wnwplw k hwunhuwunud' «pknh 10000 »

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwywwnwuuwunipjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Sdhpdw X
<<Upwnbipu>> ume
Cunpjws
dwutwlhg
Uwutwlhgubph Uwutiwygh /punpuws Uwutwlygh
qpwnbgpwé wnwowplwé ghu
nbink wiyjuwiunip e /wnwiig UUZ, npuwd/
ntupp hwdwp ok g » N
“x"/
fbhpdw <<Upmbgu>>
1 Ump X 13375.3
Quithwpwdhu 59:
Yudwu wnwplw k hwunhuwund' «dnipnubvhy 40dq »
<pwybipp <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpwéd
dwutiwlyhg
Uwutiwyhgubph Uwutiwygh /punngwd Uwutiwygh
qpwnbgpwé wnwowplwé qhu
bink wiuitinudp Jwutugh /wnwiig UUZ, npwd/
wnGntpp hwdwp gk g » N
“XY)/
bdhpdw <<Upwnbpus>
1 ump X 2050.25
Qwthwpwdhu 60:
Yudwu wnwplw k hwunhuwund' «Biuywwph ghquhun 10dg»
<pwybph <pwybiph
wwhwugubkphtu wwhwugubkphtu
Uwutwygh
hwiwwywwmwuuwunn | shwdwywwnwupluwung | Luhwdwwywunwufluwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun ufuwpugpnypniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nGwpnid ugk “X”/ nbwpnid ugk “X”/
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1 Sphpdw X
<<Upwnbpus> ume
Lunpjwé
dwutwlhg
Uwutwlyhgubph Uwutiwlgh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink lidutinuip Hustwligh 1 g WU, npuwd/
nupp hwdwp ok g » N
UX”/
1 Shpdw <U<qgtnmbpu>> X 2885 1
Quthwpwdhu 61:
Sudwt wnwpyuw E hwunhuwund® «Biuuyph) ghquhunn 20dg»
<pwybipp <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutwlygh hwiw
wwwwufuwunn | shwdwywunwupuwung | Luhwdwywunwuluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwibnt | shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjwéd
dwutiwlyhg
Uwutwlhgubph Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwéd gh
nbnk wujwunwip dwutwygh Jwnwitg WIS i/
nsno hwdwp gk wnwhg > i
“X?)/
1 Ebhplfu.l E<ql1.lepmb‘[_)u>> X 10384
Quthwpwdhu 62 :
Yudwu wnwplw k hwunhuwund' «Udppnpun; 30Ug»
<puwybph <puwybph
wwhwugubphu wwhwugubpht
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwuuwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwbnt
nbwpnud uok “X”/ nbwpnud uob “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpjwé
dwutiwyhg
Uwutiwlyhgubphp Uwutilgh /punngwd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink wliulinuip Huutligh 1 g UUE, npuwd/
napp hwdwp ok g » N
uxn/
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bShpdw <<Upuinbipus>>
1 Ump X 15776.6
Qwthwpwdhu 63:
Yudwu wnwplw k hwunhuwund' «dkpuwudhy 40Ug»
<puwybph <pwytph
wwhwugubtphtu wwhwugubtphtu
Uwutwygh
hwiwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwuniypjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwutuwubnt | /shwdwwywwnwufuwubine
ntwpnud ok “X”/ ntwpnud ugk “X”/
1 Sdhpdw X
<<Upwnbpus> ume
Cunpjws
dwutiwlyhg
Uwutwlhgubph Uwutiwygh /punngwd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink whiutinuip Huutialgh =/ itg UULE, ppuwd/
o hwidwin by guEs
“x"/
bhpdw <<Upwnbpus>
1 ump X 13499,2
Quthwpwdhu 64 :
Yudwtu wnwplw k hwunhuwund' «dmlntwugny 150uq »
<pwybipp <pwybiph
wwhwugubphu wwhwugubphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwwywunwufluwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud ugb “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpwéd
dwutwyhg
Uwutwlyhgutiph Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwé qhu
inbnk witiduitinuip Huutiulgh /wnuitg UUS, npwd/
nepp hwdwp ok g » N
uxn/
ﬂ)hndu.l <<Llnmbp_u>>
1 Ump X 1298
Quthwpwdhu 65:
Yudwi wnwpluw § hwunhuwund’ «Odkypwgn; 20Ug»
¢/c Uwutwygh <pwybkpp <pwybkph Uuhwilwwywunwuluwunyejwu
wuywunidp wwhwugubtpht wwhwugubphtu hwdwnnun ufuwpugpnypniu
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hwiwwywwmwuuwunn | shwdwwywwnmwuluwunn
hwjwnbp hwjwnbp
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nGwpnid uok| “X”/ nbwpnid uok “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjwé
dwutiwlyhg
Uwutwlhgubph Uwutiwygh /punpuws Uwutiwygh
qpwnbgpwsé wnwowplwé gh
bink wliuwiinuip Hutiwligh 1 g WU, npuw/
wnGntpp hwdwp ok g » N
uxn/
bhpdw <<Upwnbpus>
1 Ump X 3083,733
Quthwpwdhu 66 :
Yudwu wnwplw k hwunhuwund' «Uwnnpduununnhi 20dq »
<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutiwygh
hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwubnt
nbwpnud ok “X”/ nbwpnud uob “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjws
dwutwyhg
Uwutwlyhgutiph Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwé ghu
inbink witiuinudp Hwubuligh | o g UULE, npuns/
nepp hwdwp ok g » N
uxn/
Ebhplfu.l <<Upmbgu>>
1 Ump X 1816,02
Quthwpwdhu 67 :
Yudwu wnwplw k hwunhuwund' «bpmiypndkt 200dg»
<puwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwlygh
hwiwywwmwuluwunn | shwdwwywwnwuluwung | Luhwdwywunwufjuwuniejwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud ok “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume
Uwutwlyhgubph Uwutilgh Lunpjwéd Uwutwlygh
qpwnbgpwé whuwtinud dwutiwlyhg wnwowplwé ghu
wbkintpp o /nunpjwd /wnwug UUL, npwd/
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dwutwlgh
hwdwp ugk)
HXH/
bShpdw <<Upuinbipus>>
1 Ump X 354
Quthwpwdhu 68 :
Yudwi wnwpluw E hwunhuwunud' «bpniypndkh 400ug»
<pwybiphp <pwybiph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbipu>> ume
Cunpjwéd
dwutwyhg
Uwutwlhgubph Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwéd gh
inbnk witiuitinuip Huutiulgh /wnuitg UUS, npwd/
ntupp hwdwp gk g » n
“X?)/
fbhpdw <<Upmbgu>>
1 Ump X 775,26
Quthwpwdhu 69 :
Yudwt wnwplw E hwunhuwunud’ «Unjjupghtt 1.0 Ug»
<puwybph <puwybph
wwhwugubphu wwhwugubpht
Uwutwygh
hwiwwywwmwuluwunn | shwdwwywunwupluwung | Luhwdwwywunwufluwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nbwpnud ugb “X”/ nbwpnud ugby “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjws
dwutiwyhg
Uwutiwlyhgubpp Uwutiwygh /punnuws Uwutwlygh
qpwnbgpwé wnwowplwé ghu
bink tidutinudp Hustwligh 1 it WU, npud/
wnGntpp hwdwp ok g » N
uxn/
ﬂ)hndu.l <<Llnmbp_u>>
1 Ump X 14204,25

Quwthwpwdhu 70 :
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Yudwu wnwpluw E hwunhuwunud' «3hypndjopumght 0.3%-10u) »

<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwiwwywwwuluwunn | shwdwywwnwuluwung | Luhwdwywunwufluwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwuluwubnt | /shwdwwwunwufuwubin
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjwé
dwutiwlyhg
Uwutwlhgubph Uwutiwygh /punpdws Uwutiwygh
qpwnbgpwsé wnwowplwé gh
bink wliuwiinuip Hutiwligh 1 g WU, npuw/
wnGntpp hwdwp ok g » N
“X”/
fbhpdw <<Upmbgu>>
1 Ump X 3587,2
Quthwpwdhu 71:
Qudwu wnwplw k hwunhuwund' «Udhnpupnt 200udq »
<pwybipp <pwybiph
wwhwugubphu wwhwugubphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpwéd
dwutwyhg
Uwutwlhgubpp Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwé qhu
nbink wyjuwuniip Jwutiulygh /wnwiug UUZ, npud/
nepp hwdwp ok g » N
“x"/
Ebhplfu.l <<Upmbgu>>
1 Ump X 998,673
Quthwpwdhu 72:
Sudwu wnwpyw k hwunhuwund' «34hljjughn 60ug»
<pwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywwnwuluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud ok “X”/ nbwpnud gk “X”/
1 Shpdw X
<<Upwnbpus> ume
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Cunpjwé
dwutwyhg
Uwut ub Uwul
w wll:hg J]h U wutwlgh /punpqwd w wl{gh u
qpwnbgpw udwtned Jwutwlgh wnwowplws gh
bink whidutinudp J /wnwiug UUZ, npwd/
nenEn hwdwp ugb) wnwlg > i
“X”/
Quthwpwdhu 73:
Qudwu wnwplw k hwunhuwund' «Lnpuwnwunht10dg»
<puwybph <pwytph
wwhwugubtphtu wwhwugubtphtu
Uwutwygh hwdw u
wwwwufuwuny | shwdwwywwwupwunn | Luhwdwwywunwufuwunipjut
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwuluwubnt | /shwdwwwunwufuwubin
nGwpnid ugk “X”/ nGwpnid ugk| “X”/
1 Sdhpdw X
<<Upwnbpus> ume
Cunpjws
dwutiwlyhg
Uwut ub Uwut
w w:hg 6"" Uwutiwlgh /punpywd wu “‘“gh o
qpwnbgpw udwtntd Jwutwlgh wnwowpljws gh
bk whiuitinuip I /wnwiug UUZ, npwd/
HnEnn hwidwin by g TS and
‘(x"/
1 Shpdw T;klﬂnmbgu» X 1475
Quthwpwdhu 74 :
Yudwu wnwplw k hwunhuwund' «Mpnypwingng10dg»
<puwybph <puwybph
wwhwugubphu wwhwugubpht
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwuuwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud uob “X”/ nbwpnud uoby “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjwé
dwutiwyhg
Uwuhlull:hghllph Uwutilgh /punngwd Uwuhwqgh )
qpwnbtgpw udwned Jwutwlgh wnwowplwé gh
bink wuiunidp WUHLu4g /wnwiig UUZ, npud/
wnGntpp hwdwp ok wnwug » pw
HXH/
1 ﬂ)hndu.l E<rrl].lenmbgu>> X 693,84
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Qwihwpwdhu 75:

Yudwu wnwplw k hwunhuwund' «Uknnuypuyni50ug»

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwiwwywwmwufuwunn | shwdwywwnwupluwung | Luhwdwwywunwuluwunipjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nGwpnid uok “X”/ nGwpnid ugk “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjws
dwutiwlyhg
Uwutwlyhgubph Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink lidutinuip Huutwligh 1 i WU, npu/
ntepp hwdwp tob g » N
“X”/
bhpdw <<Upwnbpus>
1 ump X 19658,8
Quthwpwdhu 76 :
Yudwu wnwplw k hwunhuwund' «Ukphwyplgihquynt 4dg»
<pwybph <pwybph
wwhwugubphu wwhwugubphu
Uwutiwygh
hwdwywwwuppwunn | shwiwywunwufuwung | Luhwdwwywwnwupuwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | shwdwywnwufuwibnt
nbwpnud gk “X”/ nbwpnud gk “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjws
dwutwyhg
Uwutwyhgubph Uwutilgh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
bink wiuitinudp —— /wnwiug UUZ, npuwd/
wnGntpp hwdwp ok g » N
“x"/
bhpdw <<Upwnbpus>
1 Ump X 7701,467
Quthwpwdhu 77 :
Yudwu wnwplw k hwunhuwund' «Bhpwqgny10dg»
<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwiwwywwmwuluwunn | shwdwywwnmwupuwung | Luhwdwwywunwuluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujuwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt
nGwpnid uoki| “X”/ nbwpnid uok| “X”/
1 Shpdw X
<<Upwunbipu>> ume
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Cunpjwé
dwutwyhg
Uwutiwlyhgubpp Uwutiwygh /punnywd Uwutwlygh
qpwnbtgpwé wnwowplwé gh
bink whidutinudp Huutwligh 1 it UUE, npuwd/
wnGntpp hwdwp ok g » N
“X”/
bShpdw <<Upuinbipus>>
1 ump X 2994,132
Quthwpwdhu 78:
Qudwu wnwplw k hwunhuwunud' «Sudnpuhdbi 20ug»
<pwybiph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwygh
hwiwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwuniypjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nGwpnid ugk “X”/ nGwpnid uok “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjws
dwutwyhg
Uwutwlhgubph Uwutiwlgh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
bk whiutinuip Huutialgh =1 o itg UULE, ppuwd/
wnGntpp hwdwp ok g » n
uxn/
bhpdw <<Upwnbpus>
1 Ump X 11800
Quthwpwdhu 79 :
Yudwu wnwplw k hwunhuwund' «Sunidpnt 4%»
<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjwé
dwutiwlhg
Uwutiwlyhgubphp Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink wtiuitinuip Huutlgh =/ o itig UULE, ppund/
ntepp hwdwp toh g » N
uxn/
bdhpdw <<Upwnbpus>
1 ump X 3186




Qwthwpwdhu 80:

Yudwu wnwplw k hwunhuwund' «Shuniny 0,5% 5up»

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwiwwwwmwuluwunn | shwdwwywwnwupluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nGwpnid uok “X”/ nGwpnid ugk “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjws
dwutiwlyhg
Uwutwlyhgubph Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink lidutinuip Huutwligh 1 i WU, npu/
ntepp hwdwp tob g » N
“X”/
bhpdw <<Upwnbpus>
1 ump X 9558
Quthwpwdhu 81:
Yudwu wnwplw k hwunhuwuntd' «8kwnundng 80ug»
<pwybipp <pwybiph
wwhwugubphu wwhwugubphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpwéd
dwutwyhg
Uwutwlhgubpp Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwé qhu
wnbink witiuinudp Huwutiuligh /wnwitig UUZ, npwi/
nepp hwdwp ok g » N
“x"/
Ebhplfu.l <<Upmbgu>>
1 Ump X 5628,6
Qwthwpwdhu 82:
Yudwu wnwpluw E hwunhuwiunud' «8kwnwdng 150ug»
<pwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywwnwuluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnid uokip “X”/ nbwpnid uokip “X”/
1 Shpdw X
<<Upwnbpus> ume
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Cunpjwé
dwutwyhg
Uwutiwlyhgubpp Uwutiwygh /punnywd Uwutwlygh
qpwnbgpwé wnwowplwé gh
bink whidutinudp Hutiwligh 1 g WU, npuwd/
wnGntpp hwdwp ok g » N
“X”/
bhpdw <<Upwnbpus>
1 ump X 3215,5
Quthwpwdhu 83:
Yudwi wnwpluw E hwunhuwunud' «Ppntjunjhinht 5,75Uq/4,6ug/5u)»
<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uob “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjws
dwutwyhg
Uwutwlyhgubiph Uwutiwygh /punpyws Uwutwlygh
qpwnbgpwé wnwowplwé ghu
wnbink witiuinudp Huutuligh /wnwitig UUZ, npwd/
ntupp hwdwp ok g » n
“x"/
fbhpdw <<Upmbgu>>
1 Ump X 16461
Quthwpwdhu 84:
Yudwi wnwpluw § hwunhuwund' «Ugknhjuwhghjuppent 300Ug»
<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume
Lunpjwé
dwutiwlhg
Uwutiwlyhgubphp Uwutiwygh R Uwutiwygh
qpwnbgpwé wnwowplwé qhu
inbink wliuitinuip Huutialgh 1/ o g UULE, ppund/
ntepp hwdwp ok g » N
uxn/
bdhpdw <<Upwnbpus>
1 ump X 402,38

34




Qwthwpwdhu 85

.
.

Qudwu wnwplw k hwunhuwund' «Mwbhpbwnht 12540g»

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwiwwywwmwufuwunn | shwdwywwnwupluwung | Luhwdwwywunwuluwunipjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nGwpnid uok “X”/ nGwpnid ugk “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjws
dwutiwlyhg
Uwutwlyhgubph Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink lidutinuip Huistligh 1 g WU, npuwd/
ntepp hwdwp tob g » N
“X”/
bhpdw <<Upwnbpus>
1 ump X 367,57
Quthwpwdhu 86 :
Yudwu wnwplw k hwunhuwund' «unjhljuyghdbpnidAd; 15000uu/d)»
<pwybipp <pwybiph
wwhwugubphu wwhwugubphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpwéd
dwutwyhg
Uwutwlhgubpp Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwé qhu
wnbink witiuinudp Huwutuligh /wnwitig UUZ, npwi/
nepp hwdwp gk g » N
“x"/
Ebhplfu.l <<Upmbgu>>
1 Ump X 15812
Quwthwpwdhu 87 :
Yudwi wnwpluw E hwunhuwund’ «Jhnwdhbiught Ynduypu 150u)»
<pwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywwnwuluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwwufuwubnt | /shwdwwywnwufuwbnt
nbwpnud ok “X”/ nbwpnud gk “X”/
1 Shpdw X
<<Upwnbpus> ume
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Cunpjwé
dwutwyhg
Uwutiwlyhgubpp Uwutiwygh /punnywd Uwutwlygh
qpwnbgpwé wnwowplwé gh
bink whidutinudp Huutligh 1 g WU, npuwd/
wnGntpp hwdwp ok g » N
“X”/
bhpdw <<Upwnbpus>
1 ump X 15351,8
Qwthwpwdhu 88:
Yudwi wnwplw E hwunhuwtunud’ «dkpnud LhY 50uq/5u;»
<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uob “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjws
dwutwyhg
Uwutwlyhgubiph Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwé ghu
wnbink witiuinudp Hwublgh /wnwitig UUZ, npwd/
ntupp hwdwp ok g » n
‘(x"/
fbhpdw <<Upmbgu>>
1 Ump X 25346,4
Quthwpwdhu 89 :
Yudwi wnwpluw § hwunhuwiunud' «Gwigh-qpniyntwn 0.5g»
<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume
Lunpjwé
dwutiwlhg
Uwutiwlyhgubphp Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé qhu
inbink wliuitinuip Huutialgh 1/ o g UULE, ppund/
ntepp hwdwp ok g » N
uxn/
bdhpdw <<Upwnbpus>
1 ump X 974,68
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Qwihwpwdhu 90:

Qudwu wnwplw k hwunhuwund' «Updkinhlni»

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwiwwywwmwufuwunn | shwdwywwnwupluwung | Luhwdwwywunwuluwunipjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nGwpnid uok “X”/ nGwpnid ugk “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjws
dwutiwlyhg
Uwutwlyhgubph Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink lidutinuip Huutwligh 1 i WU, npu/
ntepp hwdwp tob g » N
“X”/
bhpdw <<Upwnbpus>
1 ump X 18962,6
Quthwpwdhu 91:
Yudwt wnwplw E hwunhuwund’ «fhunuypuyng 10dg»
<pwybipp <pwybiph
wwhwugubphu wwhwugubphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpwéd
dwutwyhg
Uwutwlhgubpp Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwé qhu
wnbink witiuinudp Huwutiuligh /wnwitig UUZ, npwi/
nepp hwdwp ok g » N
“x"/
Ebhplfu.l <<Upmbgu>>
1 Ump X 17700
Qwthwpwdhu 92:
Sudwt wnwpyuw k hwunhuwund® «dudnnhnht 20uUg»
<pwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwygh
hwiwwywwmwufuwunn | shwdwywwnwuluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwbnt
nbwpnid uokip “X”/ nbwpnid uokip “X”/
1 Shpdw X
<<Upwnbpus> ume
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Cunpjwé
dwutwyhg
Uwutiwlyhgubpp Uwutiwygh /punnywd Uwutwlygh
qpwnbgpwé wnwowplwé gh
inbink whidutinudp Hutiwligh 1 g WU, npuwd/
nepp hwdwp ok g » N
“X”/
bhpdw <<Upwnbpus>
1 ump X 737,5
Quthwpwdhu 93:
Yudwi wnwpluw E hwunhuwund’ «Ukwnljnuudhy 2,0u)»
<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwwywwnwuuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uob “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjws
dwutwyhg
Uwutwlyhgubiph Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwé ghu
wnbink witiuinudp Huutuligh /wnwitig UUZ, npwd/
ntupp hwdwp ok g » n
uxn/
fbhpdw <<Upmbgu>>
1 Ump X 5829,2
Qwthwpwdhu 94:
Yudwu wnwplw k hwunhuwunud' «Jwihgn 0,6Up»
<pwybph <pwybiph
wwhwugubtpht wwhwugubkphu
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbip hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume
Lunpjwé
dwutiwlhg
Uwutiwlyhgubphp Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé qhu
inbink wliuitinuip Huutialgh 1/ o g UULE, ppund/
ntepp hwdwp ok g » N
uxn/
bdhpdw <<Upwnbpus>
1 ump X 6855,8
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Qwihwpwdhu 95:

Qudwu wnwplw k hwunhuwund' «Yewwlht Enkphy 300ug»

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwiwwywwmwufuwunn | shwdwywwnwupluwung | Luhwdwwywunwuluwunipjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwutuwubnt | /shwdwwywwnwufuwubine
nGwpnid uok “X”/ nGwpnid ugk “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjws
dwutiwlyhg
Uwutwlyhgubph Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink lidutinuip Huutwligh 1 i WU, npu/
ntepp hwdwp tob g » N
“X”/
bhpdw <<Upwnbpus>
1 ump X 10738
Quthwpwdhu 96:
Yudwu wnwplw k hwunhuwund' «Ugknhjuuhguppnt75dq+MG»
<pwybipp <pwybiph
wwhwugubphu wwhwugubphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpwéd
dwutwyhg
Uwutwlhgubpp Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwé qhu
wnbink witiuinudp Huwutiuligh /wnwitig UUZ, npwi/
nepp hwdwp ok g » N
“x"/
Ebhplfl.u <<Upmbgu>>
1 Ump X 598,26
Quwthwpwdhu 97:
Yudwi wnwpluw E hwunhuwiund' «Ughnuwdkundth 500dq»
<pwybph <pwybph
wwhwugubtphtu wwhwugubkphtu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywwnwuluwung | Luhwdwywunwuluwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnid uokip “X”/ nbwpnid uokip “X”/
1 Shpdw X
<<Upwnbpus> ume
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Cunpjwé
dwutwyhg
Uwutiwlyhgubpp Uwutiwygh /punnywd Uwutwlygh
qpwnbgpwé wnwowplwé gh
bink whidutinudp Hutiwligh 1 g WU, npuwd/
wnGntpp hwdwp ok g » N
“X”/
bhpdw <<Upwnbpus>
1 ump X 519,2
Quthwpwdhu 98:
Yudwt wnwpluw § hwunhuwiund' «Gunguwnunh poapd 25uU)»
<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwuny | Wuhwdwwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | shwdwywnwufuwubnt
nbwpnud ok “X”/ nbwpnud uob “X”/
1 Sdhpdw X
<<Upwunbipu>> ume
Cunpjws
dwutwyhg
Uwutwlyhgubiph Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwé ghu
wnbink witiuinudp Huutuligh /wnwitig UUZ, npwd/
ntupp hwdwp ok g » n
‘(x"/
fbhpdw <<Upmbgu>>
1 Ump X 1197,7
Qwthwpwdhu 99:
Yudwu wnwplw k hwunhuwund' «Gwndwjuninh bpunpuln 20dg»
<pwybph <pwybiph
wwhwugubtpht wwhwugubtphu
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wujwunwdip
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwywwnwufuwibnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwnbpus> ume
Lunpjwé
dwutiwlhg
Uwutiwlyhgubphp Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé qhu
inbink wliuitinuip Huutialgh 1/ o g UULE, ppund/
ntepp hwdwp ok g » N
uxn/
bdhpdw <<Upwnbpus>
1 ump X 63,72
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Qwthwpwdhu 10

0:

Yudwu wnwplw k hwunhuwuntd' « hpnpuht 200ug »

<puwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwiwwywwmwufuwunn | shwdwywwnwupluwung | Luhwdwwywunwuluwunipjwu
</< wujwunwdp
hwjwinbp hwjwnbp hwdwnnun ujwpwgpnypnLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubin
nGwpnid uok “X”/ nGwpnid ugk| “X”/
1 Shpdw X
<<Upwnbpus> ume
Cunpjws
dwutiwlyhg
Uwutwlyhgubph Uwutiwygh /punnywd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink lidutinuip Huutwligh 1 i WU, npu/
ntepp hwdwp tob g » N
“X”/
bhpdw <<Upwnbpus>
1 ump X 637,2
Quthwpwdhu 101:
Yudwu wnwplw k hwunhuwund' «Skwnpughlyihtt 1%- 3g»
<pwybipp <pwybiph
wwhwugubphu wwhwugubphu
Uwutwygh
hwiwwywwmwuluwunn | shwdwywunwupluwung | Luhwdwwywunwufluwunipjwu
</€ wuywundp
hwjwnbp hwjwnbp hwdwnnun uupugpnypeniu
/hwdwwywwnwufuwubnt | shwdwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpwéd
dwutwyhg
Uwutwlhgubpp Uwutiwygh /punnyws Uwutwlygh
qpwnbgpwé wnwowplwé qhu
inbnk witiduitinuip Huutiulgh /wnuitg UUS, npwd/
nepp hwdwp ok g » N
“x"/
Ebhplfu.l <<Upmbgu>>
1 Ump X 7386,8
Qwthwpwdhu 102:
Qudwu wnwplw k hwunhuwund' «Jkpnyyhpnt50ug»
<pwybph <pwybph
wwhwugubphu wwhwugubkphu
Uwutwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwufjuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwywnwufuwubnt
nbwpnud uok “X”/ nbwpnud uob “X”/
1 Shpdw X
<<Upwunbipu>> ume
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Cunpjwé
dwutwyhg
| gy | oy | et
clptnl:l l?n wijwnuip — /umtutl2 LTLK quui/
nepp hwdwp ok 9 » N
“X”/
bhpdw <<Upwnbpus>
1 ump X 23678,67
Quthwpwdhu 103:
Yudwi wnwpluw E hwunhuwund’ «Linphpnpuht 50ug»
<pwybiphp <pwybiph
wwhwugubphu wwhwugubkphu
Uwutwlygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Wuhwdwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwywnwufuwibnt
nbwpnud ok “X”/ nbwpnud uoby “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpjwéd
dwutwyhg
| gy | oty | et
clpml:l 3[‘ wiyjuwiunip Jwutiulygh /umum2 L:.lllllﬁ q':xld/
ntupp hwdwp gk 9 » n
“X?)/
fbhpdw <<Upmbgu>>
1 Ump X 17855,76
Quthwpwdhu 104:
Yudwu wnwplw k hwunhuwund' «Lunphpnpuhti 100ug»
<puwybph <puwybph
wwhwugubphu wwhwugubpht
Uwutiwygh
hwdwwywwwuppwunn | shwiwywunwufuwung | Luhwdwywwnwupuwunipjwu
</< wuywunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | shwdwwywnwufuwubnt
nbwpnud gk “X”/ nbwpnud ok “X”/
1 Shpdw X
<<Upwunbipu>> ume
Cunpjwé
dwutiwyhg
Uwutiwlyhgubphp Uwutilgh /punngwd Uwutiwygh
qpwnbgpwé wnwowplwé ghu
inbink wliulinuip Huutialigh 1 i WU, npuwd/
nepp hwdwp gk 9 » N
uxn/
bdhpdw <<Upwnbpus>
1 ump X 18974,4
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Qwthwpwdhu 105:

Yudwu wnwplw k hwunhuwund' «Lwwnphnth pinphn 0.9%-10.0up»

<pwybph <pwybph
wwhwugubppu wwhwugubkphu
Uwutwlygh
hwiwywwwupwunn | shwiwywunwufuwung | Luhwdwywwnwufuwunipjwu
</< wujwunwdp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniLu
/hwdwwywwnwuluwubnt | /shwdwwwnwufuwubint
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